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l&E HO® | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 580 2 684 2 580 2 890 2 260 2 270 1 162 1 195 1 300] 3921
& E #Oo7E  |HBiE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 580 1 342 2 580 1 445 1 130 1 135 1 162 1 195 1 300 2,869
l&E Z20% |5tk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 580 2 684 2 580 1 445 2 260 2 270 2 324 2 390 1 300 3.833
& E Zlo-  |BE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 580 2 684 2 580 2 890 2 260 2 270 2 324 2 390 1 300 4,278
l&E =0¥  |Stk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 580 1 342 2 580 1 445 2 260 2 270 1 162 1 195 1 300] 3,134
TEE =HOME B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 2 260 2 270 2 324 2 390 1 300 2911
l&E Mo |5tk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 2 260 2 270 2 324 2 390 1 300] 2911
& E FO7ZE  |HBiE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 580 2 684 2 580 2 890 2 260 2 270 2 324 2 390 1 300 4,278
l&E RO |5tk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 2 260 2 270 2 324 2 390 1 300] 2911
TEE Hote  |[HBik 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 580 2 684 2 580 2 890 2 260 2 270 2 324 2 390 1 300 4,278
l&E Hoffs |tk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300 2,289
& E HoFE  |Bk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300 2,289
l&E OowT |tk 1 295 1 342 1 405 1 445 2 260 2 270 2 324 2 390 2 600 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 3331
& E =0 |« 2 590 2 684 2 810 2 890 2 260 2 270 1 162 1 195 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 4,161
l&E 7 1 295 1 342 1 405 1 445 1 130 1 135 1 162 1 195 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 2,409
& E 2L 2 590 2 684 2 810 2 890 2 260 2 270 2 324 2 390 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 4518
l&E 2k 1 295 1 342 1 405 1 445 2 260 2 270 2 324 2 390 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 3,031
TEE 2L 1 295 1 342 1 405 1 445 1 130 1 135 1 162 1 195 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 2409
l&E MHOE |2tk 2 590 2 684 2 810 2 890 2 260 2 270 2 324 2 390 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4518
& E MOE |« 2 590 2 684 2 810 2 890 2 260 2 270 2 324 2 390 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 4518
l&E MOR |tk 3 885 0 0 3 1215 0 0 3 390 3 405 0 0 0 0 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 3195
& E MHoE | utk 1 295 1 342 1 405 1 445 1 130 1 135 1 162 1 195 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 2409
l&E SOf |[Zi 2 590 2 684 2 810 2 890 2 260 2 270 2 324 2 390 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 4518
& E J0% |k 1 295 1 342 1 405 1 445 2 260 2 270 2 324 2 390 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 3,031
. SOofd | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 580 2 684 2 580 2 890 2 260 2 270 2 324 2 390 1 300 4,278
HFEE FOfF |Btk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300 2,289
. OBk |2 2 590 2 684 2 810 2 890 2 260 2 270 2 324 2 390 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 4518
HFEE FO#E | Utk 2 590 2 684 2 810 2 890 2 260 2 270 2 324 2 390 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 4518
20 ZEOME |5tk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300] 2,289
ZH #®Owh | Btk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 580 1 342 2 580 1 445 2 260 2 270 2 324 2 390 2 600 3,791
20 SO B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 2 260 2 270 2 324 2 390 0 0] 2611
ZH S0%  |Bi 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 2 260 2 270 2 324 2 390 1 300 2911
20 200 |tk 2 590 2 684 2 810 2 890 2 260 2 270 2 324 2 390 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4518
ZH SO [ 1 295 1 342 1 405 1 445 2 260 2 270 2 324 2 390 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 3,031
20 SOk |2t 1 295 0 0 0 0 0 0 2 260 1 135 0 0 0 0 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 990
£ BOTE  |[HBiE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300 2,289
=1 BROFE |55 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300] 2,289
£ FROzY  |[HBiE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300 2,289
=1 BROME |51 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 0 0 1 290 0 0 1 130 1 135 0 0 0 0 0 0 845
£ BROfE  [Hk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 2 260 2 270 2 324 2 390 1 300 2911
=1 BROF |51 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300] 2,289
£ Hoxx  |Bik 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 580 1 342 0 0 1 445 2 260 0 0 1 162 2 390 2 600 2,779
=1 SO% B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300 2,289
£ %0%E |B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300 2,289
=1 =08 |t 1 295 1 342 1 405 1 445 1 130 1 135 1 162 1 195 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 2,409
£ FHRORR |20t 1 295 1 342 1 405 1 445 1 130 1 135 1 162 1 195 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 2409
xS w04 |tk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 290 1 342 1 290 1 445 1 130 1 135 1 162 1 195 1 300 2,289
prati] BO0& |2 1 295 1 342 1 405 1 445 1 130 1 135 1 162 1 195 1 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 2409




